Algebra 1 Unit 8: QMions I M Practice

Day 9.5 - Converting Between Forms Name:

Practice Assignment Date: Block:

Directions: Convert from intercept form to standard form. Then name the y-intercept.

—_——
a.y=(x-3){x+4) b.y=-(x=1)(x-25) C.y= 2(x+5}(>}]j_\
3: x’\ﬁ{x—3x-12 H=-f(f*l,)fl'5)-_] e ZB 0 +1)]
y= X1z y=-[its-is5] Y2l X arsxis)

1[)( tx+ 5]
Ank Y= = [x*- tox +5 ] ) [0& Y-int
2 : y= -Xren-5eyeint 7 2x* #12x r10<
Form:_ U= X +X-1Z Form: ==-X*rlx-5 Form: u-—-lx’HleD

Y-int: [U},-ll) g ~E) Vi J s

Directions: Convert from vertex form to standard form. Then name the y-intercept.

a.y=(x+5)2-2 . b.y=-(x-2)2+6 &, y=-3lx=TE+4
O 3=[(@5D'1 ="f(x -2)(x- 2)]+Lo 5- —3f(x -N(X- |ﬂ+'-l

- -x+y |
3: X.L‘? 5’."'5&*25—2‘ H [x -2X~- Zx-}l-l:l'i'lO 'd- 3 Ex - X=X+l _] +Y4

) il = =3[ X22x+1] 2
3=x‘1+‘0x i’?.?)é'ﬂ‘in* 5 [X qX‘!'q] 5- -3 1“0 _3.‘_4
3"'_1 i"‘lX‘q“'U \j- I?.f - \<,|'_",-L{
y=-x* X2 € Yeint  J° =Tk T
Form: 3=11+IDX 113 Form: _U=-X i"'l)(+2 Form: \3"31"*\01 +1

Y-int: [0115) Y-int: ‘b|1) Y-int: ‘0|\ l

Directions: Convert from standard form to intercept form. Then name the x-intercepts

a.y=x2+2x-15 b.y=x2-5x-14 C.y=-x2+3x+4

e (153 y=z (D) Y= (e lgeeu)

W2 - (x-4)x+1)

Form: us= {X"’ J{X'.’B) Form: U = (Y "7)[Y "L)

Form:_u i [X“Ll (X'“)
X'in'i(é{m—‘(m X-int: i'!gﬂ ’(‘2;0) \)\

X-int: __JEL_OJ‘(:_'} 0)
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Direcﬂons Convert from standard form 10 vertex form. Then name the verfe>; ; Q
h Kk
Q. - 10x + 27 b.y=-x2+ LY =22x2 - 24x - 75
:'_b-: !-9 :w=5 b _-b 24 s A4 3
207 20)° 2 " 207 IF) 773 aE) T
)= (5) *_j0(8) 21 F(3)- 8 -2 (-6)*-24(-4) - 75
Y=2 / Y=\ =B
A\ Y 2 ¥ : 2\
Form: U (X 5) + 2 Form: _JJ X 5) ‘T' Form: U=-2'(x *'(D) -

Vertex: M Vertex: (5] ‘ 2 Vertex: ‘(-lﬂ |‘3)

Directions: Convert from infercept form to_vedey form. Then name._the vertex, M
/07@;- Sie2) P --5)(x 3) ' Ty =Ta(x~2) (x + ¢) v (-2-8)
) X-int: (2,0) (6, 0)

-int: ({5,0) (2,0
A-1n (P )(%1

(5,0Y (3,0)
b_f}:fiz -

Lz prg _ ler2 ki -] 0

L oo # Ty (4-3) = Yo l-2-2) "2 v 0.
Y= (d-v)4-2 a y M—-la h25)

Nly= 3
. i

Form: U[‘: CY‘H) "‘7" Form: U-' LX L” + Form: 13 = ll.(Xi'l\ 8

\ V) J
Vertex: 1Y Vertex: _(_l:h”_ Vertex: | 8,*
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